00L oov

05|05|0S 0S¢

500

1000

R=80
R=1000

500

B900><L1800

1000

N=!
50><50><1900

N=68

B340><1.1870><H300

348

404

48

N=2
50><50><2000

005 001

Q
S
S

ol

i| X
=o

B

X

Q

o

0be=580%

50><50><2000
B900><L1800

1870

17@110:
=1600

4400

]

00€ 00€ 00€

09 ove 00T 006 00T ove 09

006T

N=68

B340><L1870><H300

60

500
340

800

B900><L1800

/

1900
900
300

1100

800

500

340

60

B340><1.1870><H300

1.0
5.0
3.0
136.0
3.0
10.0
50.0
50.0

68 <2

10><900><1800
40><900><1800
50><50>2000
40>900><1800
110>85>=300
50mm><25
19mm>=10




